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RBEUAT REL#&
30A 1 o= 1,030.00 1,030.00
40A 1 o= 1,373.00 1,373.00
BEARE
50A 1 (o= 1,716.00 1,716.00
NHEEIT B 60A 1 o= 2,059.00 2,059.00
B¥0O 120kWh T 1kWh (ZD& 19.80 24.80
BHERSE 120kWh %i#8% 310kWh T 1kWh (ZD& 26.40 31.40
310kW %823 1kWh (D& 30.50 35.50
BEARE 1kVA [CD& 343.00 343.00
B0 120kWh £T 1kWh ([CD& 19.80 24.80
WEEIT C
EHERE 120kWh %#8% 310kWh £T 1kWh D& 26.40 31.40
310kW %iBx3 1kWh D& 30.50 35.50
BEARE 1kW (2DZF 1,346.00 1,346.00
KEEH = (7H1H~9H308) 1kWh (ZD& 17.38 20.38
EHERE
Zofh= (1081 B8~¥Fn6 8 30H) 1kWh (ZD& 15.80 18.80
6kVA LT 1291 o= 1,584.00 1,584.00
BEARRE 7kVA~10kVA QL= 1B OEF 2,640.00 2,640.00
AY—N\DZ 11kVA D& 1kVA (D& 343.00 343.00
73> B (Fa1 7 BF~F% 4 FFT) 1kWh (ZD& 21.00 27.00
BHENE |5 (FERA4B~FE11BFT) 1kWh D& 32.00 34.00
w/E (% 11 BHaB4FT1 7 B5ET) 1kWh (D& 28.00 32.00




